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CO, is
(A) lighter
(B) equal

(C) heavier

than air.

(D) lesser
(E) Not attempted

What is the colour of LPG ?
(A) Blue

(B) Red

(C) Colourless

(D) Light red

(E) Not attempted

can be used in flammable
atmosphere.
(A) Electrical lamps
(B) Safety lamps
(C) Hurricane lamps
(D) Portable electric box lamp
(E) Not attempted

Fire involving in combustible solid

classified under fire.

(A) Class A
(B) Class K
(C) Class B
(D) Class D
(E) Not attempted

Which stinging agent is added to LPG ?
(A) Mercaptan
(B) Ketones
(C) Musky

(D) Floral

(E) Not atternpted

Ve

fepiiD]
v
Wi

CG - FO23
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M) e
(B) Sret

(D) Beshl WA
(E) 3T

3. T ITANT SHANS IR
foran 51 weha 21
(A) forsreft & ofa
_AB) T a
(C) THM <1
(D) TIeTa Soifdeeh aigd g
(E) TRy

4, SIoFYel O H wither T s
3T & T&q Sfishd fohal T B
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(B) &t K
(C) T B
(D) @t D
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(C) weht
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are generally used for 6. ___ 1IN AR W qun%[
delivering water. ED foru fopam Smen 21
(A) Percolating hose (A) Uk el B
(B) Suction hose __AB) HHH B
(C) Non-percolating hose ‘ (C) TR-Tuh aTeht 8IS
(D) Unlined hose (D) RRaa gt
(E) Not attempted (E) ITSRIRra

High velocity system used for extinction 7. SOOI WS Geret B S g % forg
of fires in flammable liquids having a

I9 ST YOIt 1 SNt ke e & foreht
flash point above 3 ﬁ'g’, ¥ TR B 2 e J
(A) 65°C (¢

(A) 65°C £
(B) 75°C (B) 75°C
(C) 100°C wam Oy T00°C
(D) 90°C 252 (D) 90°C
(E) Not attempted (E) TSR
The three principles of extinguishment 8. 3= I ol W ToieeX Yorreft & 31 §'$lﬁ
in the high velocity water spray projector ¥ & m wedifed e, Shded 3k
systems are emulsification, cooling ; ’
and gl
(A) exposure (A) TH LEn
(B) prevention (B) Ushum
(C) extinction oy Torgw g
(D) dilution (D) STEeq¥HE
(E) Not attempted ~ (E) 3o
Approach suit provide heat protection 9. TN L gepafia TET YoM
upto AT R |
(4) 93°C A 93°C
(B) 260°C (B) 260°C
(C) 65°C (C) 65°C
(D) 100°C (D) 100°C
(E) Not attempted (E) 3TSmfg
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10. How do you copy a string in C Program ?
(A) Using the = operator
(B) Using the strcat() function
(C) Using the strcpy() function
:. - (D) Using the strncpy() function
(E) Not attempted

11. Inthe CO,extinguisher, CO,isretained
in a liquid condition at about
bars pressure.

(A) 25 B
(B) 51 Fa

(€) 41

(D) 61 sdalt]
(E) Not attempted e

12. The diameter of the hose reel is normally
(A) 10 mm (B) 19 mm
(C) 36 mm (D) 50 mm
(E) Not attempted

13. The Human Development Report is
published annually by
(A) IMF
(B) IBRD
(C) UNDP
(D) UNESCO
(E) Not attempted

+
14. The integrating factor of dy +y = Ity is

dx X
ex

(A) xex (ﬁ/—- .
X y‘J
® » *

(€] xes? D) =

(E) Not attempted
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10. C WM ¥ Tt fem &6 rdt g 6Hr
SiciE
(A) = TR T IUFT Hleh
(B) strcat()wwmm

_4€) strepy() BERM T ITENT Hleh

(D) strncpy() B T ITIT Hlh
(E) Twamtea

11. CO, 3w § CO, Tmm ELc
TETe Y alel e § T @t R |
(A) 25
(B) 51
©) 41

(D) 61
(E) 3TSRIfa
e
S

12. B Ot %1 A9 ORI @ ok

WA) 10 mm /(Bf 19 mm
(C) 36 mm D) 50 mm
(E) TS
13. e g e feass grr wioed yei
EAIS Gl
(A) FATSTATH
(B) IMEefiaTRe!
(C) Jueidt
/uzr !
(E) 3ToRya
14. g}’—+y=“—_y%mw%
dx X
(A) xeX (B) g
X
(C) xel/2 (D) ei
(E) v
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Who was the First President of United
States ?

(A) Thomas Jefferson

(B) George Washington

(C) Truman

(D) None of the above

(E) Not attempted

is a lowest temperature
at which a material will emit vapor
combustible in air mixture.

(A) Flash over
(C) Flash point
(E) Not attempted

(B) Fire point
(D) Flash up

Which of the following are non-
flammable gases ?

(A) C,H,, CH,

(B) H,, C,H,,

(C) CO,, SO,, N, ,p%g
(D) C,H,, C,H, RN

(E) Not attempted

Fittings used for joining two lengths of

hose together or to an apparatus are
called as

(A) Couplings (B) Diffuser
(C) Branch pipe (D) Nozzles

(E) Not attempted

The Code of Practice for fire safety of
buildings exit réquirement as laid down
in the

(A) IS-1644 : 1988

(B) IS-1654 : 1988

(C) IS-1532 : 1990

(D) IS-1650 : 1988

(E) Not attempted

CG - 7023

15. EI TS SRR o U8 Tgafe i & 7
(A) TG TR
By ST ARwTe
(C) g
D) IWad § & IS Tl
(E) 3

16. s eam aaE @ g wowE

e gaT & fygw § Sgosiel arsy &
IS T B |
(A) TATT 3T
Q)RR @
(E) STomied

17. T=fafe § @ sR-t h-saemsia
e 2
(A) C,H,, CH,
(B) H C4H10
{ey co,, so,, N,
(D) C,H,, C,H,

Rl L

(E) mrﬁqa

18. am%@aaﬁwmm%@ﬁm>
amﬁmmaﬁaﬁm{

(B) i fag
(D) WIS 37T

aﬁg{m%%ﬂaﬁ@mﬁm
# e foven w g
(A) 1S-1644 : 1988

(Bf 15-1654 : 1088

(C) IS-1532 : 1990
(D) IS-1650 : 1988
(E) 3TSRTg
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suit helps the fireman to
work very close to the flames.
(A) Proximity suit
(B) Entry suit
(C) Approach suit
(D) Jacket suit
(E) Not attempted

In degree celsius, water

change into solid state.

(A) 100 (B) S
(C) O (D) 2
(E) Not attempted

In SQL (Structured Query Language),
refers to differences within the
group or set of data of a variable.

: (A) Range
" (B) ‘Agcuracy

(C) Standard deviation
(D) Validation
(E) Not attempted :ﬁ%@\

: S0
Saraswati Wildlife Sanctuary is
situated in district of Haryana.
(A) Kurukshetra
(B) Hisar
(C) Karnal
(D) Kaithal
(E) Not attempted

Find the odd man out.
(A) 4774

(B) 363

(C) 4174

(D) 3773

(E) Not attempted

P
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20. _ G2 GEWH I 3 Hl A9 &
FEd HUG FM HH § 7GG HAT 8 |
(A) wrfeamfe g2
(B) e qe
oy 3T e
(D) Sthe T2
(E) 379=miaa
21, ferft afcaag o ot o e
Foed Al 2|
(A) 100 (B) 5
gm_ief 0 D) 2
B8 (E) s

2.) SQL (RF=aE@ w3 ohaw) & fpeft
% TR AT 3 % AT F i 3R
T tar @ |
(a) &

(B) &tehal

/ec(mﬁ'aa'—r
(D) T
(E) ST9=nfd

gEamn s 9o o geeedt g
Razg

(A) pear

(B) Te@mR"

(C) Ul

(D) e -

(E) TSR

@ T e 3 HifE)

(A) 4774
(B) 363

}l/rﬁm
D) 3773

(E)
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A buildings in height shall
be considered as high rise buildings.

(A) 15 m or above
(B) Below 15 m
(C) 14 m

(D) 12 m

(E) Not attempted

The maximum size of the gas cartridge
is gram for a 9 litre
water extinguisher.

(A) 10 (B) 120

(C) 60 (D) 180

(E) Not attempted

Which among the following is toxic gas ?
(A) Argon

(B) Sulphur dioxide

(C) Helium

(D) Carbon dioxide

(E) Not attempted

knot used as sling to lower
unconscious persons.
(A) Bowline (B) Reef knot
(C) Half hitch (D) Chair knot
(E) Not attempted

The heat which is absorbed during

change of state from solid to liquid is
called

(A) Liquefied stage
(B) Inhibition

(C) Fire suppression
(D) Latent heat

(E) Not attempted

&

CG - FO23

25. SUE W UH TARA I Hal HRal
& ®9 § HET ST |
&0 15 m 1 3 FW
(B) 15m ¥ {=
(C) 14 m
(D) 12 m
(E) TS

9 et A1 TfReigyr % Ry g HIfest 1
Afhan

IR ymE

26.

(A) 10 120 i

(C) 60 (D) 180 ‘6,//
(E) A5amiyg

27. Tefefed § @ Sg-off st H 2 2
(A) 3T

BT TR ST 3TTTEe
(C) Eiferay B
(D) TeT STE3TTFTES By
(E) TSTia

28. die T T SR fed b A= (0
HH % fore & & &9 3§ fopan ST 2 |
(A) SRATEH (B) {% i
Jlo gt (D) = e
(E) STRTHd

29. aﬁaéaaﬁaa@nwﬂaﬁ?%msﬁﬁ
FEa St ®, 3/ el Sl =

(A) FElE =T
B) Ty

(C) 3TFT T

) R T
(E) TSR
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Industrial buildings of low and moderate
hazard are permitted only upto ____
height.

(A) 18 m

(C) 25m

(E) Not attempted

(B) 20 m
(D) 22 m

type extinguishers provide its
own pressure for discharge from the
storage container.

(A) Water
(C) DCP
(E) Not attempted

(B) Foam
(D) CO,

In method crews construct a
fireline at some distance from the edge
of the fire.

(A) Prescribed burn
(B) Pre-fire planning
(C) Penciling

(D) Parallel attack
(E) Not attempted

What does E-R stands for in the E-R
model of database design ?

(A) Entity-Relationship

(B) Error-Resolution

(C) Event-Response

(D) Efficiency-Robustness

(E) Not attempted

Identify the reaction order of the
following rate constant.

k =2.3x10"° L mol-!s1,

(A) Second order

(B) Zero order

(C) First order

(D) Third order

(E) Not attempted

CG - FO23
m&ﬁtnm@ﬁwﬁaﬁaﬁﬁ@sﬂﬂ?ﬁ
Fl Had 4TS % @l Al
& 9Tl R |
MY 18 m (B) 20 m
(C) 25 m 22 m
(E) TSR
31. _ YR % HAWIWHG VSR he
o g & o 3o gee e N # |
(A) T (B) B
(C) DCP 4By CO,
(E) 3TSRTRa
32. forter 5 sreffeer o1 & form @ 3o
gt W w 3 T Fmior s @ |
() Freifa stem
(B) T A Frem
(C) uffem
(D] T 310
(E) 3SR
33. ErMEH {595 & E-R dieet § E-R &1 1
I g 7

N —
(B) TR~ ez Srei)
(C) $He-Ywira S
(D) TfhRm-Taeg

(E) 3TSTTe

" 3a) Fr=feRaa ¢ P w1 sffrar w9 &
TEIH |

k =2.3x10"° L mol-ls~1.

INREGIEE: 2 A
(B) ¥ %A

Ae) ToH e

(D) TeRr s

S
9.5 L0

(E) TSR



6.

37.

38.

39.

Join Telegram Group "gradein.in"

For what purpose are antipyretic
medicines used ?

(A) Medicines for blood cancer
(B) Medicines reduces fever
(C) Medicines for body relief
(D) None of these

(E) Not attempted

Latent heat is measured in

(A) Ampere

(B) Meter

(C) Grams

(D) Joules per unit mass

(E) Not attempted

In system intermediate pumps

are arranged to be kept between the
supply pump and the fire.

(A) open circuit
(B) closed circuit
(C) truck relay

(D) turn table relay
(E) Not attempted

The color code for 93°C bulb type
sprinkler is

(A) Orange (B) Green

(C) Red (D) Yellow

(E) Not attempted

Expand NBC,

(A) National Bureau Code

(B) New Business Code

(C) Natural Bacterial Concentration

(D) National Building Code

CG - FO23

35. RUEE AIRME & T R wH &
fore fepa STaT 2@ 7
(A) T HE % fog g@mg
(B) TATC §@R HH Hid! &

(E) Not attempted

Oy IR i TEd ¢ arelt @Y
(D) ¥ § HI5 T
(E) STy
36. 37ad ST HI F HTqT ST B |
(A) THRR
(B) Hix
(C) T
By S e wr
(E) JTSTiéa
37. __ wonfeT ¥ gexeifeue qui w1 g
q9 3R M & " Tt b sgewem Hi
EIGIR
(A) AT Hiche
By FiIsE Hfthe
(©) & =
(D) T 3ot T
(E) TS
38. 93°Cawa3q%fa§|(%mwaﬁg
__ &7
(A) TRt % (B) T X
AT (D) e &
(E) TSR
39. NBC (Tsiet) =1 forar sl
A S hiS
(B) = forstm e
(C) T SR HALT
(D} T FTET BIS e
(®) TR B
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40. Which of the safety requirement is not | 40. FH a¢ 6t fedfer I - GLam awaHa
correct in the event of total flooding ? T TR g 7
(A) Provide adequate lighting with (A) Testrenes dehdt & @Y AT TR
directional signs —
(B) an1ng51gns should be positioned (B) et Sha i O % s e
inside of the protected area i
(C) The alarms should activate a few % f -
minutes before the operation () | L 2 G
(D) CO, installed in explosive areas A .
should be provided with metal W gt # wnfia co, = amg
nozzles o TSIt o A9 WeH feRan ST =Ry
(E) Not attempted E;:% (E) A9aTid
ofzis
41. Ultraviolet detectors work with 41. & feeaex nm ¥ &H
wavelengths shorter than __nm. TUTCE o 91 M Hd g |
(A) 100 (B) 50 100 (B) 50
(C) 200 (D) 300 (C) 200 (D) 300
(E) Not attempted (E) 3Ts=mia
42. A is a device that connects two | 42. _ T% IYHW1 & S Q) & (LAN)
LANSs or two segments of the same LAN. Th & 9 (LAN) % @ @l #1 SEdr 2 |
(A) Hub (B) Switch \(A) TS (B) =
(C) Router (D) Bridge (C) §X (D) sfg E:%@
(E) Not attempted (E) TR e
43. Haryana government notified Punjabi | 43. &R0 WeR 3 e @y gsu ) G
as the State’s second language in WIST & ®9 | Cﬂﬁ?ﬁ%‘d ERETI
(A) 1947 (B) 1968 (A) 1947 (B) 1968
(C) 1966 (D) 2010 (C) 1966 LDy 2010
(E) Not attempted (E) 3rsrnfaa
44. When is the Worlg Homeopathy Day @) forea Biftdelt feaq g RIS ® ?
observed ? V({ 11 9= (B) 11 3B«
() March 11 (B) Apri] 11 (C) 10 =T (D) 10 31
(C) March 10 (D) April 10 s
(E) Not attempted (E)

-10-
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(=

S. Foamis produced by mixing foam
concentrate with

(&) €O,
B J‘%(B) Powder

e
CIEE
(C) Water

(D) Oils
(E) Not attempted

46. Which of the following pairs of physical

quantities may be represented in the
same unit ?

(A) Heat and temperature

(B) Heat and work

(C) Temperature and mole

(D) Specific heat and heat

(E) Not attempted

47. Flame cutting equipment work with
the combination of acetylene gases
and

(A) Oxygen

(B) Oil

(C) Fluids

(D) Water

(E) Not attempted

48. AsperTACwaterstoragerecommended
for ordinary hazard industry is

(A) Not less than 1 hour aggregate
pumping capacity

(B) Not less than 3 hours aggregate
pumping capacity

(C) Not less than 2 hours aggregate
pumping capacity

(D) Not less than 4 hours aggregate
pumping capacity

(E) Not attempted

-11-
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45. W I 3T HIF b Bl F
a1y freTTeRt fepam ST 21
5 CO,
IDIRIESY
(C) urht
(D) o<
(E) TS

46. Tmfafea § @ vifys wEnedl &1 ®F-T
W A $HTE T guIaT oI Hehdl & 7

_AAY S 3R A
(B) SHT 3T et
(C) AT 3R Tt
(D) ferfdrse o s Soemm
(E) STafir
47. R B Sy wfifeet e ok
% TAH % 1Y % B B
AT ST
(B) T
(D) af EESE
(E) TR
48. TAC % IER, wremer Sifew 99t 3emt 3
e ST seRe B Rt
STt @ |

(A) 15 & w ufier Wit & T
P Y38 8w afRRn i & e
(C) 282 & Hw 3ufrm iR &
(1) 4 ¥ A wm ufger i amar g

(15) 31sfr
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49. Which of the following is active fire

protection system ?

(A) Fire resistance rated walls and
floors '

(B) Manual or automatic fire
detection

(C) Minimizing ignition sources

(D) Emergency evacuations

(E) Not attempted

50. Maratha ruler Tantia Tope had built a

fort at this place of Haryana
(A) Mahendragarh

(B) Narwana

(C) Bhiwani

(D) Jind

(E) Not attempted

51. The simplified form of
in + in+1 + in+2 + in+SiS
(A) O (B) -1
) 1 (D) i
(E) Not attempted

52. In SQL (Structured Query Language)
is simply the average of

numeric values of an attribute.

(A) Mode

(B) Median EYEE

(C) Mean e
Cf32E

(D) None of the above
(E) Not attempted

53. CABA stands for

Compressed Air Breathing
Apparatus

(B) Compelled Air Breathing .
Apparatus

(C) Compared Air Breathing
Apparatus

(D) Compelled Air Blood Apparatus

(E) Not attempted

<1

CG - FO23

49. frefafaa § @ wi-ar @fka A gen
qoeft & 7
(A) IR ety e dari 3R
B 4B AT a1 Teferd T ST T I
A () 3 Hiat Y B w
EEIEGEISIERE 2|
(E) 3TSRmred

50. TS YTHH AT 29 T SR % 37 @
T Teh TohedT ST

AT RS
(B) &I
(C) Trart
(D) Sife
(E) TS
B in+in+1+in+2+in+3wmmg
(4) 0 B) -1 ((rm1"
A 1 BT
(E) TS=mTed
52. SQLH (ReFRg dWsfiaee) T
TerIwaT aTet T AT o 3 2 |
ut
HTferenT
(C) 71eq
(D) ST H & B Tt
(E) ST
53. CABA % 37 g
(A) PTEE TR iR AR
(B) IS TR sfif A
(C) HHUSTE TR shfi dew
(D) e TR ofe Witew
(E) TSR
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54. What is the temperature of orange

colour bulb type sprinklers ?
(A) 57°C (B) 79°C
(C) 68°C (D] 98°C
(E) Not attempted

55. Normal body temperature of human
body is
(A) 39°C B} 37°C
(G} 386°C (D) 38°C
(E) Not attempted

56. The energy possessed due to the
motion of an object is called E]F
(A) Potential energy Ot
(B) Kinetic energy
(C) Thermal energy
(D) Power
(E) Not attempted

57. Water boils at at atmospheric
pressure.
(A) 0°C (B) 35°C
(C) 86°C (D) 100°C
(E) Not attempted

58. Water spray cannot be used on
fire.
(A) Class A

(B) Combustible solids
(C) Wood, paper

(D) Class C

(E) Not attempted

-13-
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54. Iaft O % Sod EY TENheR I AR
fpam g 8 ?
(A) 57°C /pr 79°C
(D) 93°C

(C) 68°C
(E) AwTiEa

55. HHd IR T G I a9

g ®|
(A) 39°C (B 37°C
(C) 35°C (D) 38°C

(E) 3TS=miera

56. Torell a%g 1 fy F Hror B T it Y

6B AT &
(A) HITRE Sl
By TR
(C) aTd Fwii
DRIES

57. UM
(A) 0°C
(C) 86°C

(E) -5

ud”
I na]

YT gre IX I 8|
(B) 35°C

__(Dy100°C

58. UM % B W Wi T R T
foRat T Ty 2
(A) T A
(B) SETMST Sy
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59. Which of the following is not a method
of heat transmission ?

(A) Radiation

(B) Conduction
(C) Convection
(D) Explosion

(E) Not attempted

60. In the delugesystems_____ type of
sprinklers installed.
(A) closed -
B R
(B) pressure EI 353 i

(C) open
(D) plastic
(E) Not attempted

61. What is the primary advantage of
parallel processing ?
(A) Reduced power consumption
(B) Increased processing speed
(C) Lower cost
(D) Improved software compatibility
(E) Not attempted

62. According to the 2011 census report,
which State recorded highest density
of population in India ?

(A) West Bengal
(B) Uttar Pradesh
(C) Bihar

(D) Kerala

(E) Not attempted

63. What will come in the place of question

mark ?

W -144,?,5S-100,Q-81, O - 64
(A) U-121 (B) V-121

(C) U-122 (D) V-128

(E) Not attempted

CG - FO23

59. Fm=fvifgd & @ SH-91 ST TR &
TehT &1 B 7

60. IS yumfert A YR o TSR
Y ¢ F |
(A) sig fepam gam
(B) gsE
(C) et
- (D) TR
(E) 7=

61. Wt TARHET 1 WAfies ey =T R ?

Ay H foreft Bt T
(B) Safdp i fa § gfg
(C) U AT
(D) 39 G’ Fiadr
(E) Tsnfa

2,) 2011 h FOMAT TOR % IHAR 9Ra &
iRk SHEEIT BFcd o7l U89 ShH-9T 8 ?
(A) 9f3m sTTe
ABY ST W
(€) fogr
(D) e
(E) TS

63. T U8 & &M W R MM ?
W - 144,?,S-100,Q - 81,0 - 64

4 T-121 . (B) V-121
) = L (D) V-128
(E) 3T

jas M8 BN 8 SIENMDIT
Noe v L oend , _f I M

9 VL w U W g,gof’o/\{»w

Sfavay 3 j’ A2 ot B
. 1)

W
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In the Manual fire alarm system, which
of the following is manual system of
raising alarm ?

(A) Rotary gongs

(B) Sprinklers

(C) Detectors

(D) Fire suppression
(E) Not attempted

is the transfer of heat by
moving particles of liquids or gases.

(A) Conduction
(B) Convection
(C) Uninhibition
(D) Inhibition

(E) Not attempted

As per National Building Code of India

buildings are categorized under

Group H of occupancy.
(A) Educational

(B) Storage

(C) Industrial

(D) Residential

a5
75
o4

o

o]
B

2o

(E) Not attempted

Area from which escape is possible in
one direction only is

(A) exit point

(B) assembly

(C) dead end

(D) riser

(E) Not attempted

-15-

CG - Fo23

64. ﬁgmwmﬁﬁmﬁﬁﬂ%f@aﬁé
H—7 TERAT 3T I BT TUTel 8 7
(A) Tett Tfeamat
__(By Toswm
(C) Tz
(D) 37T g
(E) 3T9Tira

65. A I1 NG & TiaHE HU R
SSAT BT TR 8|
(A) HSHEHE

%ﬁ'@* (C) IRl

v (D) sfRfoem

Eli.iﬁ?

66. Wﬁﬁ@fﬂaﬁgmzﬁm%w
ARG STegie % g9 H % 3iaid
I 7 |
(A) e

By ¥sRuT
(C) 3Trenfires
(D) TETEH ¥
(E) Stvanfea

67. T8 &7 @ oot T fegyy 7 =7 999 2,

TR
At T foig
(B) 3Tt
(C) SS T=

(D) TR
(E) ITTATRIG




68.

69.

70.

72.
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In Python function returns

an integer that specifies the current
position of the file object in the file.

(A) seek() (B) tell()
(C) read() (D) write()
(E) Not attempted

If | x-2|<1, then

(A) xe(-1, 3)
(B) xe[-1, 3)
(©) xe(, 3) By
(D) xe[1, 3] i

(E) Not attempted

According to the 2011 census report,

the women literacy rate in India is
(A) 74.3% (B) 75.4%

(C) 82.14% (D) 65.46%

(E) Not attempted

TAC stands for

(A) Traffic Access Control

(B) Traffic Advance Committee
(C) Tariff Advance Committee
(D) Tariff Advisory Committee
(E) Not attempted

System provides protection for
buildings from internal fire.

(A) Drencher \

(B) Sprinkler

(C) CO,

(D) Hydrant

(E) Not attempteq
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68. A U HAR Tk U oal
B WA H BIEA Afeoide ht Tqa Rl
w1 fifdse St 2 |
(A) seek() (B) tell()
(C) read|() B write()
(E) TSR '

69. If¢ |x-2|<1® @

A) xeF1,3) oo -
4/(&6[‘1, 3) QQ - 2

© xe(t,3 R
(D) xe[1, 3] /)
(E) TSTRIa

70. 2011 1 SUFT fOé & AR 9Rd §
wfge HeRar ¢ et @ ¢
EE (&) 74.3% (B) 75.4%

U‘
%E (©) 82.14% X __(D}-65:26%

(E) Tsrnfir

71. TAC 1 Hddd 2l
(A) e ThEE ww
(B) gI%eh TgaTH Hinfe
3T Hiffe

( % TSN HiIfe
(E) TSR

72. JUell AN 3T & SHRG &
L& TGH HA 7|
(4) $H
/mﬁ@w
(C) CO,
(D) FEgE
(E) 3TSRnfa
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CG - FO23
Chemical formula for oxygen is 73. ESIEEEEIRGSIPIEED &l S,
(A) O, (B) CO o, (B) CO
(C) CO, (D) H, (C) co, (D) H,
(E) Not attempted :E_%;;:‘-?: (E) mrﬁ:{a
Which of the following is type of 74. Tr=fafaa 4 @ -t Gfes w=f &
synthetic rope ? ThT % ?
(A) Manila (A) BT
(B) Nylon (B)"’Tﬂ/’-laﬁ
(C) Cotton (C) HI™
(D) Sisal (D) HTZHA
(E) Not attempted (E) 379amfyd
A vertical pipe installed in a building 75. AT IwAl & O uw sHRa & wenfg
for fire-fighting purposes, that is T SF9d 9139 S O B Rl ®9 @ =l
permanently charged with water is g1 8, 98 R
(A) Wet rising main - ) 9e wefem o
(B) Total flooding ‘E‘];EEQ"' (B) B E”_Gf'
(C) Dry rising main (C) T3 Wefom o9
(D) Local application (D) AR :ﬂngﬁ'r[
(E) Not attempted (E) 3ToTa
[ cC
AR — AFFF used on fuel fires containing | 76. AR-AFFF 3T ST ey s 3 62 ST
(A) Wood (B) Metal 8, ¥ y &I 2 |
. (A) TR ~< (B) g
(C) Electrical (D) Alcohol (C) fr@@ ~ ’/(B')"Eﬂv_cﬁmu
(E) Not attempted (E) TSR
Full form of MCB is 77. MCB®H 0 &9 3
(A) Miner Control Board (A) TTER Shelet s
(B) Miniature Control Breaker (B) ffre=r Eh‘gﬁa ST
(C) Miniature Circuit Board (©) PR afhe =g
(D) Miniature Circuit Breaker oy TAFeR wfbe st
) Not attempted il SR &
C
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78.

79.

80.

81.

82.

Join Telegram Group "gradein.in"

When any building is used for more

than one type of occupancy is called
it b A

(A) Mixed occupancy

(B) Light hazard occupancy

(C) Hazardous occupancy

(D) Storage buildings

(E) Not attempted

The temperature at which a liquid
boils and becomes a vapour is the
(A) Melting point

(B) Boiling point

(C) Freezing point

(D) Density E%:%
i
(E) Not attempted ICIEE 3

79.

A modem’s transmission speed (the rate | 80,

at which it can send data) is measured in

(A) Hertz

(B) Bytes

(C) Bits per second (bps)
(D) Watts

(E) Not attempted

Which number will come in the place

of question mark ?
7,26, 63, 124, 215, 342, ?
(A) 391 (B) 481

(C) 421 ~ (D) 511
(E) Not attempted

Utility rope for raising or lowering

mOovVing parts of extension ladder is
called

(A) Hardline () yajyard
(C) Wirerope  (p) pyjler
(E) Not attempteq

My
maﬁ%
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78.

‘A)‘aefa

82.

CG - FO23

3o foret SARG &1 IUAT TH ° IAfrsw
YRR o AT % forg fepem ST &, A )
EGES IR
S TR
(B) Tooh! WA SRR
(C) TaHTH AT
(D) HERT FAR
(E) TS

98 dIaH g W HIE WA 3w 8 3
ST T AR, I§ BT @l
(A) TS

B

(C) Tewr
(D) ¥
(E) SASmRIa

T HigH 6 g vfd (R T | 38 3
Hehell B) I T T 7 R |

(B) Szed

i Ahe (bps)
(D) =M
(E) ST9md

mﬁg%wmﬁq—mma@ﬁ?
W36, 63, 124, 215,342,? 4 ~

b S
(A) 391 (B) #81 oV
(C) 421 ‘M@u
(E) =iy
THIH TS % i uidw H FW M
A= H F fore Rt _
el ST 8 |
(A) BTE WTE .(B) BT
(C) aR T&=H ' ool
(E) 3ToRITiea



35.

86.

37.
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Foam extinguisher can either gas

e WD
(A) Stored pressure

cartridge type or

(B) Chemical pressure
(C) Cylinder pressure
(D) Hydraulic pressure
(E) Not attempted

19.5% oxygen level is considered as a
condition.

(A) Enriched

(B) Fainting

(C) Normal

(D) Minimum safe
(E) Not attempted

In the wet riser system, size of the vertical
pipe should not be less than ___ -~ mm
internal diameter.

(A) 65 mm

(B) 100 mm

(C) 50 mm

(D) 74 mm

(E) Not attempted

What is the full form of TEC ?

(A) Typical Environment Control
(B) Ternary Eutectic Chloride

(C) Tender Equipment Commission
(D) None of these '

(E) Not attempted B

Volts = Amps X

(A) Ohms )(’B)/ Resistance
(C) Watts (D) Voltage

(E) Not attempted
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83. B 3TN g ATl AT Al I B TR
Rl bR T B HhdT Bl
(A) Hufed gema
Wm
) Taferet gume
D) BTggiieish ol
(B) STu=mrad

84. 19.5% 3o T I

T STt 8l

85. o¢ TsW Rrew # affwer qizy &1 3THR
X/mmmmésm:ﬁﬁ@mml
65 mm g.f‘(m
XB) 100 mm Y i
(C] 50mm 323
(D) 74 mm 3.°
(E) 3TETRIa

86. TEC (Ise) #1 o ®wq oy Srar 2 7
(A) 2TRITRST =TS Shoter

(B) R IfFesh weirrse
ey T saguie st
(D) 38 9 IS &1
(E) 3T VoL
\ A aLe
87. T = TR
el (B) Y=
(C) @re (D) et
(E) TS




88.

89.

92.
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Sparge pipe is useful to protect

(A) Engine from heating

(B) Tyres from ground fire to water
the road

(C) Vehicle from radiant heat

(D) Hoses from damaging

(E) Not attempted

Fire involving combustible metals are

classified as a class fire.
(A) A (B) C
(C) B (D) D

(E) Not attempted

Hydrostatic pressure testing is required
for water extinguishers in every
years.

(A) 3
(C) 5
(E) Not attempted

(B) 8
(D) 10

What is the purpose of system
software ?

(A) To create documents and
presentations

(B) To browse the internet and
access web content

(C) To manage the computer’s
hardware resources

(D) To edit photos and graphics
(E) Not attempted

This lake is also called as Ottu reservoir
(A) Sukhna lake o
(B) Jui canal ‘y’,a?gg
(C) Dhanur lake el
(D) Diwanawala lake

(E) Not attempted

o

s

CG - FO23
88, TS UIEY ol gI& & foy
EEpitid
(A) B | s
(B) TS W UMT & fore ST 3701 & TR
(C) ¥ete de | e
M‘aﬁ‘v‘f@@w@ﬁﬁ
(E) 3T9mRaa
89. SIS 9T | ot AT H oft
3T % &9 8 affera foram mar 21
(A) A (B) C
©B DY D
(E) TSR
90. Y% agt § S ARRHS +
o gseefess qama gligor Hi stawEed
BIt 2l
13 (B) 8
g (C) 5 (D) 10
,'%’é (E) T9=fa
91. TiwH Hige R 1 FTR/FT R ?
(A) T 3R Tl s & g
(B) ST I 3R 99 e qe T
forg
W‘a@mmwmwﬁ
% forg
(D) ®Ia 3R Ufthep & wlee & o
(E) TSR
92. 39 i &I 3Ng Terer off wed 2
(A) FET i %
(B) IE hiet
(C) &3 $fiet
D) e e
(E) STS=IRrd

-20-



Join Telegram Group "gradein.in"

i1s a composite gland
1ich acts as both exocrine and
1docrine gland.

\) Adrenal gland

B) Thymus

(C) Pancreas

(D) Parathyroid gland
(E) Not attempted

is formed when immiscible
liquids are agitated together and one
of the liquids is dispersed throughout
the other.
(A) Dilution
(B) Smothering

i %6
(C) Emulsion e
(D) Atmospheric pressure Aet=n

(E) Not attempted

Fire buckets are painted with
color.

(A) Bright Red

(B) Wooden

(C) Steel

(D) Maroon

(E) Not attempted

A route forming part of the means of
escape from any point in a building to
a final exit is called

(A) Fire door

(B) Fire lifts

(©) Fire exit

(D) Escape route

(E) Not attempted

CG - FO23

Q3. @WH@?—”
ESGIR
(A) TgTer Tfa
(B) arsHH
TR
(D) FTURRIsS TfY
(E) 3TSTiyd

94. __ T9 §9qT 8 I« HFyHoiiy @ TH
w1 SR A § o uw e g A e
ST 2
(A) SIS

B et
(C) WHesH
(D) IrgHSHY quE
(B) T9ira

95. M Hlwifeedi @l WA UM €T | |
Pk A

(B) Wi

(C) &t

(D) &=
T (E) TR

S

96. TH TR { foreft oft forg & aifeer faeered a
e % wrem w1 fewgy s arer A B

T ST 3 |

(A) BRR ER

(B) BFR fowe
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97. A pre-mixed foam installation storage

99.

100.

(

tank designed for maximum working

pressure of

(A) 10 bars -
(B) 12 bars fae
(C) 7 bars €
(D) 20 bars

(E) Not attempted

Which type of fire extinguisher must
not be used in case of electrical fire ?

(A) Dry powder extinguisher
(B) CO, extinguisher

(C) Foam extinguisher

(D) FM 200 extinguisher

(E) Not attempted

Which of the following is a common
type of auxiliary memory ?

(A) Cache memory
(B) Solid State Drive (SSD)
(C) Random Access Memory (RAM)

(D) Magnetic tape

O]
(E) Not attempted iy
4 WE

Dainik Haribhoomi is the 15t National
Newspaper published from

district of Haryana.

(A) Hisar

(B) Gurugram

(C) Rohtak

(D) Kaithal

) Not attempted

CG - FO23

@ & 3rehan H1H HI TEE & U
TEAY RS % feomsT @ fi-fiyeds
& TR T |
(A) 10 R
12 SR
(C) 7€ R
(D) 20 ¥R
(B) STumfya

98. fasielt @ 31w oM &l FRAfy o v v &
RIS T FET TG HET =R 2
AT T WIS I G 1
(B) CO, 3T §3H 1Al
(C) BT 3TNT T aTet
(D) FM 200 AT M Sref
(B) TSR

99. fr=fefed & ¥ HH-H Trres A9 &
T T ThI 8 7
(A) 2 A=
(B) HifeTs W< gr5a (SSD)
ey o i i (Rav)
(D) Ao 3 %“%&
(E) STSRiea

100. ¢ afafr _ § fyeen o wum
TSI THMERS 8 |
(a) fem
(B) TeA™
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